
Igualdades (G)Halle los valores de cada incógnita.
90 + ⌓ = 3 + 88 9 + 49 = ⧖ + 8
⦿ + 97 = 88 + 89 26 + ⍟ = 72 + 43
4 + 20 = 13 + ⌷ ⧉ + 50 = 38 + 46
54 + 27 = ♦ + 9 ∇ + 17 = 26 + 66
38 + 68 = 72 + ⌷ ♠ + 22 = 39 + 43
59 + 87 = 84 + □ 81 + 71 = 80 + ⊙
8 + 46 = ♦ + 37 ♦ + 55 = 31 + 28
66 + 26 = ⟣ + 59 97 + □ = 90 + 63
37 + ♦ = 73 + 45 7 + ♡ = 9 + 2
71 + 57 = ∇ + 89 ⎔ + 15 = 30 + 51
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Igualdades (G) RespuestasHalle los valores de cada incógnita.
90 + ⌓ = 3 + 88 9 + 49 = ⧖ + 8⌓ = 1 ⧖ = 50⦿ + 97 = 88 + 89 26 + ⍟ = 72 + 43⦿ = 80 ⍟ = 894 + 20 = 13 + ⌷ ⧉ + 50 = 38 + 46⌷ = 11 ⧉ = 3454 + 27 = ♦ + 9 ∇ + 17 = 26 + 66♦ = 72 ∇ = 7538 + 68 = 72 + ⌷ ♠ + 22 = 39 + 43⌷ = 34 ♠ = 6059 + 87 = 84 + □ 81 + 71 = 80 + ⊙□ = 62 ⊙ = 728 + 46 = ♦ + 37 ♦ + 55 = 31 + 28♦ = 17 ♦ = 466 + 26 = ⟣ + 59 97 + □ = 90 + 63⟣ = 33 □ = 5637 + ♦ = 73 + 45 7 + ♡ = 9 + 2♦ = 81 ♡ = 471 + 57 = ∇ + 89 ⎔ + 15 = 30 + 51∇ = 39 ⎔ = 66MatesLibres.Com


